MTA-0

[ ANEGEXE 0] 0 0 ]
A EBKRE 0| F1r—4L| F2vr—L| F3v—L[ 0 0
St |#H&EA EF 0 - - - 0 0 St
S2 [F5ep 1%343 0 - - - 0 0 S2
D1_|iEKR #¥ A ET 0 - - - 0 0 0| D1
D2 [ILE #HiE Fprh f&iE 0 - - - 0 0 o] D2
S3 EAR # 0 - - - 0 0 S3
MTA- 1
[ EBAT 0] 3 I KE |
EIBXFE 0 | F1r—4L| Favr—L| F3v—L[ 3 R RE
S1 |EH #fsk o] 9 - 2113 - 21 - 2 IR & St
S2 |#% HEt o] 8 - 21| 8 - 21 - 2 iR {EABE S2
D1_|N¥ S R STE 021 - 23|18 - 21 - 2 |58 & AR = D1
D2 |55 #hak ® Fif 0 = = = 0 |tR& {EAER o B D2
S3 |R% FHE 0 - - - 0 [k ZH—ER S3
MTA- 2 _
BHXT 3] i AMEEXRE |
EEKRE 3 EIT—L ]| Fo5—L] EIF—L4L[1 NINEZEXRE
S1 [k #8 2116 - 2121 - 1421 - 9 |1 [|6RE & St
S2 Al EfE 2121 - 1611 - 2121 - 19 [ 1[5% B84 S2
DI |BHAX RE B IEtE 013 - 2115 - 21 - 2 [EDF =ik e & D1
D2 |ZH =Nt Sl B 2122 - 2021 - 13 - 0 |[5% Rk # B9 D2
SEEEZIE TS 0 - - - 0 [ E =x S3
MTA- 3
[ e N 0| 3 EAZEAT |
faE PR AE 0 [ F1T5—L] F25—L] EF35—L4L] 3 RAFEKXRE
S1 | fix 0[14 - 21|19 - 21 - 2 |Faf K&t St
S2 [lR&E Wz o[10 - 2113 - 21 - 2 | Xk EH S2
DY SEFA o] 8 - 21|17 - 21 - 2 |[Ek BEE =E AX D1
D2 |[E #i%x —xX & 0 - - - 0 |KK E# L EE D2
S3 |[—K = 0 - - - 0[5k BE S3
MTA- 4
[ IINEIZRTF 3] 0 BEEEAE ]
A HEITKRE 3| Fir—4L| Far—L| F3v—L[ 0 EREXF
S1 |.EP§ XKE 221 - 11|21 - 15 - 0 [JkEp#ith St
s?2 |REE kB 2121 - 13|21 - 17 - 0 B EIETE S2
DI _|HE Fth IR EN 2121 -8 [21 - 4 - 0 [3rI;ZERA EihE D1
D2 [;BEE EN Ef &= 0 - - - 0 [JbEp#sth ELIEE D2
S3 |[dbIE ES 0 - - = 0_[imI;ZER%R S3
MTA-5
R AT 2 ] 3 EAKRE ]
FREERE AT 2 | B15—L ] Fo5—L] #35—4L] 3 EAAT
S1 |EH BX 2121 - 1911 - 2121 - 151 [|Hx KE St
S2 | B ol16 - 21 [ 12 - 21 - 2 | £ =1f S2
D1 |4 Z— £ o[14 - 21|11 - 2 - 2 [ AE i ht D1
D2 |E¥ BX EAR 2121 - 1521 - 10 - 0 i E D2
S3 | iE o[19 - 21]17 - 21 - 2 [3FFE 3Rt S3




MTA- 6

[ SRAT 3 | 1] EEXT
PN 3| Ei1F—L] FT25—L] F35—L] 1 EEXRZE
S1 B0 &4t 2121 -9 [21 - 11 - 0 |[&FE =th S1
s2 |BEE fn 0[19 - 21|20 - 22 - 2 [/MIL R S2
D1 T =A O B 2121 - 1021 - 12 - 0 [FAZE #fak 22X 8K D1
D2 B Xifh HE X 0 = = = 0 |fkmE ZRth NI D2
S3 |EE = 2121 - 1221 - 11 - 0 |FF#E #id S3
MTA- 7 _
BAF REX 0] Edl ABERT
BEKE BEX 0 [ EiF—L] F25—L] F35—L] 0 ABKKRE
S1 |AHER 0 - - - 0 |BE FF S1
S2 [EREE 0 - - 0 [=lE A S2
D1 [£HEF EHELL 0 - - - 0 (EH X B FFE D1
D2 =LK BAREE 0 - - - 0 liFE A =i =X D2
S3 |£AEF 0 - - = 0 (BH X S3
MTA- 8
[ ANEGEXE 3] 1] AWK
A EBKRE 3 | Fir—L| For—L| F3Hv—L[ 1 R RE
St |#&EA EF 221 - 1721 - 13 - 0 |hiE B—B S1
S2 [fgH & o0[18 - 2119 - 21 - 2 (IO & S2
DI AR # 25 A 221 - 1221 - 15 - 0 |tk {EAEH o T¥FE D1
D2 |FH &F T 1&4E 2121 - 1421 - 8 - 0 @ % AR = D2
S3 A ¥ 0 - - = 0 [#&& f6AER S3
MTA- 9 _
l AT 2 | 3 | EAFEAT ]
EEKRE 2 [ 15 —L] F25—L] F35—L] 3 REAFEKRE
S1 [ #8 2117 - 21|21 - 19|21 - 19| 1[@@E HA St
S2 [l EfE ol 11 - 21 4 - 21 - 2 | E& EE S2
DI |k IFfE EEZIFFA 117 - 2122 - 20|18 - 21 | 2 [KK ZE& R EE D1
D2 |ZEH =N Sl B 2| x - X - - 0 |EFk BEE =E hX D2
SEEEZIE TS 121 - 19]18 - 2117 - 21 [ 2 [&Kk BE S3
MTA- 10
[ INEIZRTF 3] 0] EAKT
A HEITKRE 3| Fir—L| Far—L| F3Fv—L[ 0 REEAXE
S1 [ HE&8 £tk 2121 - 1521 - 11 - 0 [ =fh St
S2 |BER RN 2116 - 21|21 - 15|21 - 131 [Hx A& S2
D1 _|HE8 *th TE =4 221 - 13|21 - 17 - 0 [5FFE 3Rt BHx A& D1
D2 |E# #=th BE EN 0 = = = 0= =fh B OBE D2
M EAEEEZ 0 - - - 0 M Rt S3
MTA- 11 _
[ ERAT 0] 3] AEEXZT
S KF 0| EiF—L] FT25—L] F35—L] 3 ABKKRE
S1_[gIA =E&E 0[13 - 21|18 - 21 - 2 [IRE BA S1
S2 [BO &4t 1014 - 21 ]21 - 16|14 - 21 [ 2 [ K BA S2
DI _[BAO &4 BE =X 0[16 - 21|16 - 21 - 2 Bl =X KE FHid D1
D2 B Xih *E HX 0 - - - 0 liFE A B BB D2
S3 5 =A 0 - - - 0 [k Fflb S3




l INERAE [ 2] [ 3] EAFERAF
FNEBEXZE 2 [ B1F5—L ] F25—L] E35—4L] 3 EAZFEKAF
S1 /B FERR 121 =12 7 - 2114 - 21| 2 [k K#E
S2 |FMA EF 2120 - 2221 - 16|21 - 13| 1 [EHR EF
D1 _|FHFHE &EF Fpoh %48 2121 - 19121 - 12 - 0 [#ifE FRE #= &5
D2 {EAR ¥ 2E A 1121 -9 [19 - 2119 - 21| 2 [ KK =& L& EF
S3 EA = 014 - 2117 - 21 - 2 | KA =&
MTA- 13 _
[ AMETKE (0] [3] AERRE
FINESTI K 0 [ F1IF5—L ] F25—L] 35 —L4L] 3 ABEKKF
St [HE =% 0[19 - 2119 - 21 - 2 [IRE BA
S2 BB & 1116 - 2121 - 16 [ 17 - 21 | 2 |[X# BX
D1_|BER Emr M E;h 0]l16 - 21 [ 21 - 23 - 2 =l =X KB Fit
D2 |hEF £t ItE ENH 0 - - - 0 liFE A A# A
EMEAEEZ 0 - - - 0 |7k #fl
MTA- 14
[ ANERAT [3] 1] AMETRE
N EBKRE 3| Fir—L| F2r—L| F3v—L[ 1 R EITKRE
S1 |#HHA &F 2121 - 12|21 - 14 - e
S2 /B ERR 014 - 21 7 - 21 - 2 [dkE =
DI _|H4E £t =H Tt 2121 - 1821 - 17 - 0 FBER EANA Eft Zh
D2 |F&FH & Fpoh &8 2121 - 1421 - 18 - 0 [HE £ dE £
S3 A ¥ 0 - - - 0 [;BR =Eft
MTA- 15 _
BEAFEAY [ 0] [ 3] ABERT
ERAZEXE 0 [ FB1IF5—L] F25—L] F35—L4L] 3 ABEKKF
S |=H B= 0[16 - 21 [18 - 21 = 2 [fREE BA
S2 | Eft EF 1118 - 2121 -8 [20 - 22| 2 [X# BK
D1 | KK =& EF E 015 - 21| 18 - 21 2 |= =X KB il
D2 |#\E #H{E = 45 0 - - - 0 [IRE A AH BB
S3 [Faf Kt 0 - - - 0 k& #Hid




